LR L/MBRA /ZIMORCHI

GANCI TRAINO E RIMORCHI

UMBRA RIMORCHI
Via C. Pizzoni 37/39, 06132 Perugia - Italy
Tel. +39 075 5280260
Fax +39 075 5287033
www.umbrarimorchi.it
umbrarimorchi@umbrarimorchi.it

jember of C5Q ,,é\
RIAN O

ISTRUZIONI DI MONTAGGIO
FITTING INSTRUCTIONS
INSTRUCTIONS DE MONTAGE
MONTAGEANLEITUNG
INSTRUCCIONES DE MONTAJE
NHCTPYKUWMA MO YCTAHOBKE

DISPOSITIVO DI TRAINO TIPO
TOWING DISPOSAL TYPE

TYPE DU DISPOSITIF DE REMORQUAGE
ANHANGERVORRICHTUNG TYP
DISPOSITIVO DE CAREO TIPO
TArOBO-CLEMHOE YCTPONCTBO

19015

PER AUTOVEICOLI

FOR CARS

POUR VEHICULES AUTOMOBILES
FUR KRAFTFAHRZEUGE

PARA AUTOVEHICULO

AN ABTOMOBWNEN

JEEP GRAND CHEROKEE
JEEP COMMANDER
2005 =>
(WH)

CLASSE E TIPO DI ATTACCO
CLASS AND HITCH TYPE

CLASSE ET TYPE DE CROCHET
KLASSE UND BEFESTIGUNGSART
CLASES DE ACOPLAMIENTO
KJNTACC U TN COEANHEHUA

OMOLOGAZIONE
HOMOLOGATION
HOMOLOGATION
ZULASSUNG
APROBACION
OMONOrAuus

e3 00 - 7270
(DIR. 94/20/CE)

CARICO VERTICALE MAX

S VALUE

MASSE VERTICALE MAXIMUM

ZUL. STUTZLAST

CARGA MAX. VERTICAL

MAKCUMAJIbHAA BEPTUKAJIbHAA HAIPY3KA

S = kg 150

VALORE D
D VALUE
VALEUR D
D WERT
VALOR D
3HAYEHUE

Max | Kg Max | Kg
=0 X
D=

Max | Ka War | ka

&+ —=

x000081 £ kN 15,6

COPPIA DI SERRAGGIO PER VITI (8.8):

TORQUE SETTINGS FOR NUTS AND BOLTS (8.8):
COUPLE DE SERRAGE POUR VIS (8.8):
SCHRAUBENANZUGSMOMENT (8.8):

MOM. DE PRESION PARA TORNILLOS Y TUERCAS (8.8):
CMNCOK OETAJIEN (8.8):

M6 = Nm 10
M10 = Nm 55
M14 = Nm 135

M8 = Nm 25
M12 = Nm 85
M16 = Nm 200

19015

- JEEP GRAND CHEROKEE -
- JEEP COMMANDER -

14/03/14 v. 1.0 P.1/8

TOWBARS

l.RI.IMBRARmoncm



mailto:umbrarimorchi@umbrarimorchi.it
http://www.umbrarimorchi.it/

SAFETY INSTRUCTIONS

¢ Make sure that the tow bar is suitable for the vehicle before starting the
installation. Verify also that the vehicle's towing disposal quoted on the car
registration is mentioned on the tow bar document. Otherwise ask the proper
office (umbrarimorchi@umbrarimorchi.it) for explanation or updated documents.

¢ For safety, all work involving tow bar installation must be undertaken by skilled
technicians.

¢ Damaged components must be replaced with manufacturer’s spares parts by
qualified staff.

¢ It is forbidden to make any modification or structural repair to the tow bar.

USE AND MAINTENANCE

¢ The tow ball must be kept clean and lubricated. For added safety, his diameter (50
mm) must be checked at regular intervals. If the tow ball measures less than 49
mm after selected readings across the diameter, the tow ball must be replaced
with a new one.

¢ After 1000 km of towing, check torque settings for nuts and bolts, in accordance
with the table.

CAUTION

The towbar installer must fix at the same level with the ball in a clear position, a plate
with the ball's maximum load for the vehicle on which the tow bar is fitted.

19015
- JEEP GRAND CHEROKEE - 14/03/14 v. 1.0 P.2/8
- JEEP COMMANDER -

l.RI.IMBRARmoncm

TOWBARS



mailto:umbrarimorchi@umbrarimorchi.it

FITTING INSTRUCTIONS

19015

Remove from below the vehicle any protective sealant from the points of contact
between the shell and the tow bar; then paint the uncovered parts with rust preventer.
The holes for the tow bar's fixing are available.

=

10.

Disassemble the spare wheel.

ONLY FOR JEEP GRAND CHEROKEE: Make a cut on the rear bumper's middle
side as shown in the enclosed layout.

Loosen the rear bumper's lower side and the plastic inner reinforcement removing
the fixing bolts.

Place drawbeam "A" in support of the vehicle's chassis in correspondence to holes
"1", then insert screws.

Place component "B" in support of the vehicle's chassis with reference to screws
"1" and then fix.

With reference to holes "2", insert screws and then fix.

Tighten all bolts and nuts with a tightening torque as shown in the enclosed
layout.

Connect the wiring to the socket (usually given apart), following the car booklet's
instructions "use and maintenance” as shown in the enclosed wiring kit layout.

Fasten the plastic reinforcement and the rear bumper.
Reassemble the spare wheel.

19015
- JEEP GRAND CHEROKEE - 14/03/14 v. 1.0 P.3/8
- JEEP COMMANDER -

l.RI.IMBRARmoncm




19015/VM
h
‘;’é
(1)
=
227"

19015

4 - JEEP GRAND CHEROKEE - 14/03/14 v. 1.0 P.4/8
‘-‘ - JEEP COMMANDER -

TOWBARS e LI/ umera@morcin




7N CONTACT
(| # é M14x100 | §Y 14x30x2,4
7oy CONTACT | <>
\2) | é 1435 | QY soma | @ M4
2\
3
19015 /F 19015/C 19015 /VM
| 2x M12x70 (8.8) E @ | 2x M12x25 (8.8) g ® | 2x M12x30 (8.8) é
@ | 2x 12.2x27x2.5 ) @ | 3 12.2x27x2.5 Q @ |2x | M12x25 (8.8) é
3 | 2« M12 (8.8) ® @ |1« | M12x85 (8.8) i () | 4 12.2x27x2.5 Q
@ | 1% M12 (8.8) ®

@
)Q@
it //‘ :

ACS 4002
U.R. SF16/B U.R. SFBLC/A e4 00-2410
e3 00-7673 e3 00-7137 94RV$O‘2966
(F11A) (11 AY) "ot 00-5518
19015
- JEEP GRAND CHEROKEE - 14/03/14 v. 1.0 P.5/8
Vi - JEEP COMMANDER -
A i
TOWBARS w%% . LI/ umera@morcin




TAGLIO PARAURTI
BUMPER’S CUT
DECOUPE PARE—CHOCS
AUSSCHNITT STOBSTANGE
PA3SPE3 BAMIEPA
PO3PI3 BAMIIEPY

GRAND CHEROKEE

Vista da sotto
Bottom view

Vue par—dessous

Unteransicht
Bug cHuay
Buensag 3Husy

/

o
v

Auﬂ \ b!)_/

SX

19015/F

35 35

275

Y

!
A

275

A
!
A
!

Vista da sotto
Bottom view

Vue par—dessous

Unteransicht
Bug cHuay
Buznag 3Husy

/

o
v

tﬂ | bj

SX

19015/C
19015/ VM

19015
- JEEP GRAND CHEROKEE -
- JEEP COMMANDER -

14/03/14 v. 1.0

P.6/8

l.RI.IMBRARmoncm




MECCANISMO MOD. € 2007

L/

L/MBRA #ZIMORCHI

tel. +39 075 5280260

{fax +39 075 5287033
www.umbrarimorchi.it
umbrarimorchi@umbrarimorchi.it

NL - Montage S - Montering I - Montaggio NL - Demontage S - Demontering I - Smontaggio
GB - Mounting DK - Tilkobling GB - Disounting DK - Frakobling

D - Montage FIN - Asennus D - Demontage FIN - Irrotta

F - Montage E - Montaje F - Démontage E - Desmontaje

P.7/8

14/03/14 v. 1.0

l.RI.IMBRARmoncm

19015
- JEEP GRAND CHEROKEE -

- JEEP COMMANDER -




Der Freiraum nach Anhang 7, Abbildung 25a und 250 der
Richtlinie ECE-R 55 ist zu gewahrieisten.

Vaolny prostor ve smyslu Prilohy V11, obr. 25a a 25b smémice
ECE-R 55 musi byt zaruéen.

Det skal sikres, at der er spillerum i overensstemmelse med bilag
7, fig. 25a og 25b i henhold til direktiv ECE-R 55.

Hay que garantizar el espacio libre conforme al anexo 7, fig. 25a
y 26b de |a directiva ECE-R 55.

La zone de dégagement, selon l'annexe 7, figure 25a et 25h de la
directive ECE-R 55, doit &tre assurée.

Vahksen tulee t3ytta3 ohjeen ECE-R 55 liitteen 7 kuvissa 25aja
25b iimoitetut vaatimukset.

Make sure to provide clearance according to appendix 7, figures
25a and 25b of the ECE-R 55 regulations.

Mpéme vo EE0oPaiifETal 0 tAEUBEPOC KIOPOC TUNPWVT YE TO
TapdpTnua 7, oxnua 25a ka 250 Mo kovoTikne obnyiac ECE-R
55

Frasaum

Biztositani kell az ECE-R 55 iranyelv szernti, 7. szam( fUoggelék,
25a. és 25b abrakban jeldlt szabad teret.
Deve essere garantito lo spazio lihero secondo l'allegato VI,
figure 25a e 250 della normativa europea ECE 55 R-01.

} | Det ma serges for fritt rom i samsvar med fillegg 7, figur 25a og
I £ t 25b i direktiv ECE-R 55.

5 | frax. 100, | Die vrile ruimte volgens supplement 7, afbeelding 25a en 25b van
e L 58 e, 250 richtlijn ECE-R 55 moet gewaarhongd zijn.
L . Malefy zapewnit wolng przestrzen zgodnie z zalacznikiem 7, rys.

252 | 26, dyrektywy ECE-R 5.

COcTaBNATEL cBOOOAHOE NPOCTPAXCTBO COMACHO MNpUNoMeHWD 7,
pwc. 25a u 25b Oupertesl ECE-R 55.

ol
§ Spelrummet enligt bilaga 7, bild 25a och 25b | rktiinje ECE-R 55,
maste garanteras.
g
g
Wemkakbsne durch dis
Endpiinkie dei Geesaamil angs
d8a Fahrzeuges * bei zulassigem Gesamtgewicht des Fahrzeuges
Boden * pfi celkové pripusing hmatnosti vozidia
w1 * ved tilladt totalveegt for keretajet
* con peso total autorizado del vehiculo
* pour poids fotal en charge autorisé du véhicule
s * Ajonewvon suurimmalla sallitulla kokonaispainolla
' * at gross vehicle weight rating
g 100 .; * I TO ETNTRETTTO UIKTO BAPOC TOU OXNHOTOC

Frairasm

* A jammi megengedett Gsszsllya esetén

Werlikalbene durch die
Erspunkie dai Tesarmi dngs
e Falv 2a0305

* per il peso complessivo ammesso del veicolo
* ved kareteyets tillatte totalvekt
* hij toegestaan totaal gewicht van het voeriuig

min, 75

* przy dopuszczalnym ciezarze catkowitym pojazdu
* MpH JOMYCTHMOM o0LWEeM Bece aBTOMOOMNA
* vid fordonets tillna totalviki

min.

19015
- JEEP GRAND CHEROKEE - 14/03/14 v. 1.0 P.8/8
- JEEP COMMANDER -

A -
TOWBARS S = LI/ umera@morc




